0

Calculus I, Bonus Take Home Work for Test 2, October 29-November 3, 2008 Name:

Credit will be awarded for correct content and clarity of presentation. This assignment can add 20pts to
your Test 2 score. Partial credit is also awarded if need be. You may consult your text and my website
and notes but no working with others. You should not even discuss level of difficulty. This is to be done
individually. You are free to ask me questions, but | will probably not help unless it is an issue of lack of
clarity in the statement of the question.

1) [20pts] Suppose R is the region bounded by Y — 1+2Zand Yy = \/ga7 and ¥ = 0 and

2
the circle £ + y2 = 4 calculate the following integral by making a change of variables to polar
coordinates. Graph the region R carefully before you begin the integration.
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